4.2 The Unit Circle
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The equation of the unit circle can be found using the Pythagorean Theorem.
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Therefore, the equation of the unit circle is: X" + y b
In general, the equation of any circle is: xt + Y S L

Example 1: Determine the equation of a circle with radius of 5 and the center at the origin.
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Example 2: Is the following point on the unit circle? (% ‘/75)
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Example 3: Determine the coordinates of all points on the unit circle with:
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Special Triangles in degrees (from PC 11)
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‘Special Triangles in radians
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P(B) refers to the point P on the unit circle that forms the angle 6. Since P'is a point, it has the

coordinates: _ P(8) = (x,Y) K | (%,y)
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Example 3: Find the exact coordinates of : (on o wnit+ elrele , r=| ) heed an r= |
for uni+
a) P(m) b) p(%”) _ circle So we

T every side by 2.
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Example 4: Find angle 6 such that P(6) = (‘/75 —%)
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Practice: p.186 #1b, 2bc, 3ace, 4,5, 9, 13



